BTEERRTN R RN REEBE A

(g < )
BE AL 5 4 [ B 5 % & gt
(R E] & T DB/ H5 48D (H %) (WAL 48+ BIRL 3 480)
52, 428 18, 539 70, 967
B EEE RN | ool 52, 428 18, 539 70, 967
> B IS4 0 0 0
(5 B 0 0 0




5 7 DE R EED HERIER

(845 FF)
E-E0 . 2 % =5 2 | pERESZ
&S " = & B4 @ | B 4 48
(IR 28 18,539
C-2 | BUAFFEEHETODIIMNIEERE B LEEERS. £ 5 REHE. thigB R RSB ESE) 18,539

Bt

18,539




£ 70

SREMNSREA TER(ESREREN)
(R 255 ] (g F)

RITHREEE
X4 2K 2 | anieen #70
‘ s . Sk : AR BERL 54 &3
By | WETHE | FXES E54 BREEL e | BRI ge | MR [ERinoss| ediomm| S8 2
=R Ay ST +& EIERS )
Ci-%8
= _ e s BILAMESETOC IO BEEE (W L-EERR. |BAXRE (& -
EEE EBH C 2  |BEMBEAXESESE HE ST IR TREE i S e B ) * ﬁ6§ﬁ3 #t B 1/2 13,711 13,711 0 10,283 10,283




TRz ERESRERH)

£ 70

(B4 FH)

RITHREEE
A = Dl %0
3 - BT X4 24348 , as

L E THETH & EXES EE4 ERFES ﬁ%li;% AR | EE/EE | D 42 | EE s e B | EnE At

FRE =R Ay b (E#) +& ER2SEE))

Ci-%8
s i EILAMESETOC IR IBEEE (W L-EERR. |BAXRE (8

EER BEH C - 2 |BEFBEAXKEGESE Eﬁﬁgég i{bﬁt%%iﬁ%ﬁ%ﬁ%) * e ibax ﬁbgﬁ“) #t B 1/2 11,009 11,009 0 8,256 8,256




